Exam Code : Exam Date :26-05-2019 Ver-

sion .54 Exam Time :16:00-17:30

Question No. 1

Simplify: (VB -248)

A) B)
18+2:12 18-212

o) D)
18+122 18-122

e e [JE-QJET]:

A) B)
18+2+12 18-2412
) D)
18+12+/2 18-1242
Answer Key : D Your Response : Not Answered

Question No. 2
Which agent produces a local or general loss of sensation?
A)Anaesthetic B)Oxygen
C)Glucose D)Blood

P T A NPHS TG IT T YaeT1-gIf U Pl o7

A)faead® (Anaesthetic) B) 3iTereiistet
C)TDIS D)t
Answer Key : A Your Response : A (Correct)

Question No. 3
According to Mendeleev's periodic law, the elements were arranged in the periodic table in the order of-
A)lIncreasing atomic masses B)Decreasing atomic masses

7D
A\ 4

Top



C)Decreasing atomic number D)Increasing atomic number

#hT & Mad I & SR, dcdt P oad URoft A __ & YR W gAY fHar 74 ol
A)Sed TRATY] et B)UCa TRHIV gedawt

C)¥ed WA HAH D)Sgd WA A

Answer Key : A Your Response : D (Wrong)

Question No. 4

In the given figure, the circle represents educated, rectangle
represents unemployed, and square represents villagers. Which region
represents villagers and educated but not an unemployed?

A) B)

]

© D)

=
-1
o

D
A) 5 B)
3
C D
) ) 1
4
Answer Key : D Your Response : C (Wrong)
Question No. 5
Lactose is composed of and glucose.
A)Fructose B)Sucrose
C)Galactose D)Maltose

Top



A _____ ORI & 1 I B

A)sheretst B) ¥ shIsT
C)3terrers D)#HTeelst
Answer Key : C Your Response : D (Wrong)

Question No. 6
What is the LCM of 6(xy - y), 8 (x*y - xy)?
A)24 xy (x*-1) B)(x®-1) xy
C)24 (x®-1) D)24 xy

6(xy - y), 8 (x%y - xy) @ A.9.U. (LCM) AT BT

A)24xy (- 1) B)(x*- 1) xy
Q)24 (-1) D)24 xy
Answer Key : A Your Response : A (Correct)

Question No. 7
Find the smallest three-digit number that is exactly divisible by 12, 15 and 24.
A)360 B)120
C)180 D)240

i sidt @ 9 B ¥ T WA AT A, S 12, 15 3R 24 § gUigaT fA=a

A)360 B)120
Q180 D)240
Answer Key : B Your Response : B (Correct)

Question No. 8
Simplify: cos(30° - A) - cos(30° + A)
A)cos A B)(1/2)sinA
C)sin A D)2sinA

WA PT : cos(30° - A) - cos(30° + A)

A)cos A B)(1/2)sinA
Q)sin A D)2sinA
Answer Key : C Your Response : Not Answered

Question No. 9

Sound travels in a medium as a-

A)Straight line B)Series of compressions and rarefactions
C)Beam D)Particle

eaf fopelt Wt memmw & & &0 7 daika g gl

Gt T B)Edsat vd favet H1 AR@a

C)ferzor D) Ul

Answer Key : B Your Response : B (Correct)

Question No. 10
The reaction of sodium sulphate and barium chloride solution is an example of-
A)Double displacement reaction B)Endothermic reaction Top
C)Single displacement reaction D)Exothermic reaction



iferm Yethe SR IRTH FaREs faeT & offear &1 TP 3

A) SR HifRfRT B) ST 3R

C)ueohel TaeUTsT 3rfAfshar D)FsaATardr ifafear

Answer Key : A Your Response : A (Correct)
Question No. 11

Who was the Governor General of India during the Sepoy Mutiny?

A)Lord Canning B)William Bentinck

C)Robert Clive D)Warren Hastings

fITér fIele & QRM HRA & TaR %A S YT

A)dTs FHider B)faforme sfes

C)IaC Fellza D)areT gRtesw

Answer Key : A Your Response : A (Correct)

Question No. 12
A trader makes a profit by selling goods at a profit of 20%. He also uses weights that are 20% less. What is
his actual gain per cent?
A)50% B)25%
C)60% D)40%

TSP IR 20% & AH W JHM SUaR A PHET 81 39 IIY & 98 U8 dict Bl JUART =T € S 20%
P & ITBI IEdfID SRIRA AH Fd BT

A)50% B)25%
0)60% D)40%
Answer Key : A Your Response : Not Answered

Question No. 13
The Government of India designated 29 June every year as 'Statistics Day' in the memory of-
A)Radhakamal Mukerjee B)Prasanta Chandra Mahalanobis
C)Shakuntala Devi D)Dhananjay Ramchandra Gadgil

HRA PR 7 9l a4 29 §7 Bl fpadr qq # Hifeadr feaq & w9 # Hifva fpar un

ATYTHHT H_Tsft B)Weldl g HeTeoliad
OREGRIGE] D)YsiarT TFHEE amSfer
Answer Key : B Your Response : Not Answered

Question No. 14

Complete the series.

7, 35, 33, 63, 60, 92, (....)
A)69 B)74
C)88 D)81
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7, 35, 33, 63, 60, 92, (.)

A)69 B)74
Q)88 D)81
Answer Key : C Your Response : Not Answered

Question No. 15
Captain Amarinder Singh is the present Chief Minister of-
A)Odisha B)Sikkim
C)Rajasthan D)Punjab

A)3nf3er B) faferha
C)ITSTEYTT D)USId
Answer Key : D Your Response : C (Wrong)

Question No. 16

Find the wrong number in the following series.

6, 12, 21, 36, 56, 81
A)56 B)36
C)21 D)12

AEfafaa svft & 7ad Jear aa Al

6, 12, 21, 36, 56, 81

A)56 B)36
Q021 D)12
Answer Key : D Your Response : D (Correct)

Question No. 17

4 0.4

44 . . .
Express —%+—%+ % in decimal form.
a a

0.0896 0.0968

Top



C) D)

0.0888 0.0998

44 4 0.4

e L= P CAAGT HEAT & & J Gad HIAT|
A) B)
0.0896 0.0968
) D)
0.0888 0.0998
Answer Key : B Your Response : B (Correct)

Question No. 18
If the selling price of an article is Rs.240, the profit is 20%, then for how much should it be sold, if the profit is
to be 30%?
A)Rs.280 B)Rs.200
C)Rs.260 D)Rs.300

gfg fe aeq # T Hed ©.240 §, IR ATH 20% gl A 30% AH 9Icd IRA & AU 9 fH8 Hed | o1
ST 91fRE?

A)%.280 B)%.200
C)%.260 D)%.300
Answer Key : C Your Response : Not Answered

Question No. 19

Choose the alternative that best replaces the question mark(?) in the

given figure.
6 5 4
11| 9| 7
2 | 56 | 33|
N B)
i

Top



0 D)

30 ey & 799 F, A P F 9F Bed (7) F WE W

I & T Fafead s9gwd &
6 5 4
11| 9 fl
? | 56 | 33
A __ B)
iD
95
C D
) ) 65
85
Answer Key : C Your Response : Not Answered

Question No. 20
Divide Rs.305 in three parts, so that 3/7 of the first, 2/3 of the second and 4/5 of the third are equal. Find the
share of the third one.
A)Rs.62 B)Rs.72
C)Rs.75 D)Rs.40

%305 P 39 YHR M WM H fauIerd oX 76 Uga 31 3/7, QR BT 2/3 3R TR F 4/5 R | TR H
feedn Ard Y|

A)%.62 B)%.72
C)%.75 D)%.40
Answer Key : C Your Response : Not Answered

Question No. 21
An aqueous solution turns red litmus solution blue. Excess addition of which of the following solutions would
reverse the change?
A)Ammonium hydroxide solution B)Lime

C)Hydrochloric acid D)Baking powder

TF TAg faagd, a9 faeay & faags @ Hiar a1 8l Aafafed % 9 feus faags s W 98
IRgd= fsyHdt 8 S

A) 3T gresiaass faoast B)TAT
C)gTssIaralliReh 31Fel D)EIERIRER
Answer Key : C Your Response : C (Correct)

Question No. 22 TOP



Which of the following is a folk dance popular during the harvest season in Punjab?
A)Odissi B)Kathak
C)Bhangra D)Garba

USTS I 3F Pie & Y e U ¥ I T A% AT wafid &

A) 3itfeer B)HUD
C)HITY D)TRET
Answer Key : C Your Response : D (Wrong)

Question No. 23
A person travels from P to Q at a speed of 50 km/h for 30 minutes. He then increases his speed to 60 km/h
and reaches his destination R in 20 minutes. What is his average speed for the whole journey?
A)70 km/h B)55 km/h
C)65 km/h D)54 km/h

% gfad 50 fpHl / el & I ¥ 30 A W P A Q IF P 1T IRl ¢l TR I8 U IA P TR 60
fepelt / weT @RaT & 3R 20 TAFE # 3R dey R @ Ugd Wl g1 YU Ul b IRM Sudr 3iEd =@ Ald
o

A)70 Tre/eer B)55 ferefi/erer
C)65 ferat/aer D)54 feratt/aer
Answer Key : D Your Response : D (Correct)

Question No. 24

Which number will best complete the relationship given below?

120:168 ::288: ?
A)360 B)362
C)359 D)358

DI dear R fau 7T Hdy B G Td § g Bl

120 : 168 :: 288 : ?

A)360 B)362
0)359 D)358
Answer Key : A Your Response : A (Correct)

Question No. 25
Which state lies to the east of Jharkhand?
A)Odisha B)Chhattisgarh
C)West Bengal D)Bihar

Top
IRES & I4 =M & DH 1 [T @



A)3nf3am
C)ufegar samer

Answer Key : C

B) & die
D)fSER

Your Response : C (Correct)

Question No. 26

What does the Ashoka's wheel in the Indian National Flag represent?

A)Wheel of peace

C)Wheel of the law of dharma

YRATT AET €as B IRib T FT ST

A)enifa &1 T
C)ud & e &1 o%

Answer Key : C

B)Wheel of prosperity
D)Wheel of authority

B)TH fg &1 =k
D)3if8shR &l =sh

Your Response : B (Wrong)

Question No. 27

Put the proper symbols +, -, x, + in the blank spaces to fit the equation.

(18_3)_7_15_5=0
A)+, +, -, F
C)+a Xa -1+

B)+, +, X, *
D)+a ~ Xa =

FHIERU P HRId B & I Red TUFEE § SRA fHed +, -, x, - B W

(18_3)_7_15_5=0

A+ + -+
C)+/ X, o+

Answer Key : A

B)+ + X, +
D)+I = X, -

Your Response : Not Answered

Question No. 28

In this question, statement is given followed by three conclusions. Choose the conclusion(s) which best fit(s)

logically.

Statement:
F<sH<J2V>E

Conclusions:

LH<V

.J>E

l.LF<E

A)Only conclusion | is true

C)Only conclusion Il is true

B)Only conclusion Il is true

D)Only conclusions | and Il are true
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W T H, T oA g 1A 7 e o i Msed fau T ¥ SO AsH @ (ST Asest B A S
qIfesd &7 § Fo9 g T

DY
F<H<J=2V>E

sy

I.H<V

. J>E

M. F <E

AyFae fswy | &8 gl B)&ad ey || ey gl
C)aa fasey Il TEr &1 D)ahadr fasay | 3R 111 TEr &1
Answer Key : B Your Response : B (Correct)

Question No. 29
A metallic sphere of radius 6 cm is melted and drawn into a wire, whose radius of cross section is 8 cm. What
is the length of the wire?
A)3.5cm B)5 cm
C)4.5cm D)4 cm

6 YAHieX ATl a7 TP U & M P UEAER Th dR §™T oAl §, foed iy €S @ B 8
HorfieR 31 dR B daE fra @

A)3.5F T B)5 ¥ E1HIX
Q)4.5 9 & D)4 ¥ &#HeT
Answer Key : C Your Response : Not Answered

Question No. 30
Find the ODD one out from the given options.
A)LQO B)PUS
C)TYw D)ORT

fau 7T faweut § & SRiTd B T

A)LQO B)PUS
OTYW D)ORT
Answer Key : D Your Response : D (Correct)

Question No. 31
Which of the following is the cause of ringworm?
A)Virus B)Bacteria
C)Fungus D)Liverwort

AEffEd § @ P O a5 B BRU &

A) farsToy HEIEILE
OmwEr D)feraac
Answer Key : C Your Response : C (Correct)

Question No. 32

Top



Complete the series.

11,77, 38.5, 231, (...)

A)125 B)120
C)115.5 D)121.5
Aoft B o ¥

11, 77, 38.5, 231, (..

A)125 B)120
1155 D)121.5
Answer Key : C Your Response : Not Answered

Question No. 33
On increasing the temperature of solids, the kinetic energy of the particles-
A)First increases and then decreases B)ls constant

C)Increases D)Decreases

B B 9T §¢M WX, HUIT P IS I [

A)Tger Fect & 3R R b Sl § B)feer &l &
SEEININ D)YC I &
Answer Key : C Your Response : B (Wrong)

Question No. 34
A hare spots a dog 100 m away and starts running away from it at 12 km/h. One minute later, the dog gives a
chase at 16 km/h speed. At what distance from the spot where the hare took to flight will the dog catch the

hare?
A)1100 m B)950 m
C)900 m D)1000 m

& G 100 HRX T 0@ Fed D &@aT § AR 12 Pt / g1 & 919 § S99 R HIET T& I=al 61 &
e 918, Fedl 16 fBt / Hel & O @ ST TRAT e IRaT ¢ 99 T F fRa g R Pl 3§ TR
B UHS A, TG ¥ W A UEET & BT U

A)1100 1t B)950 HI
©)900 Ht D)1000 HI
Answer Key : A Your Response : A (Correct)

Question No. 35
When is 'World Ozone Day' observed?
A)January 15 B)April 25

C)December 16 D)September 16 Top



f39d 3NSTH foq@ S AT ST &7

A)15 STeTasr B)25 3tder
C)16 fedeR D)16 fadex
Answer Key : D Your Response : D (Correct)

Question No. 36

Find the missing number in the following series.

13, 32, 24, 43, 35, (...), 46, 65
A)54 B)60
C)32 D)56

FEfared soft 9§ ged dear sa Hifvg)

13, 32, 24, 43, 35, (.), 46, 65

A)54 B)60
Q)52 D)56
Answer Key : A Your Response : A (Correct)

Question No. 37

What is the name of the observatory to study Saturn's moon and comets by NASA 2018 campaign?
A)W.M.Keck observatory B)Pioneer 10
C)Sofia D)Aryabhata space observatory

T 2018 SR @RT A & AgHT SR YHBISH BT SRTTT I & T TG JUIAT HT A9 #4787

A)Zecg TH Db dURITe B)urafa= 10
C)afrar D)3mderg 3iaikeT Jeremel
Answer Key : C Your Response : Not Answered

Question No. 38
What causes decomposition of organic matter?
A)Bacteria B)Liverwort
C)Algae D)Virus

AEfrRd ¥ @ S 91 Jfde gt & uued ol BRU 8

A)Sitar, B)ferazac
C) e D)fawiog
Answer Key : A Your Response : B (Wrong)

Question No. 39
The force of attraction between all masses in the universe, especially the attraction of the earth’s mass for
bodies near its surface is called-
A)Spring force B)Mechanical force

C)Gravitational force D)Friction force

Top



sedls # T geawHt & diM @A ar oYUl §d, ARy ¥9 & gedt B Ide P U Rl A W gedt &

GO gaRl Y oA 1A MBS0 §af & F1 Bl Sl &7

A)HHH B)if¥er el
O)T,FcaTehyuT Fel D)o¥uT §o
Answer Key : C Your Response : C (Correct)

Question No. 40
What does the five interlinked rings in the Olympic flag represent?
A)Oceans B)Sports
C)Mountains D)Continents

3MeifS «ae # WER T Ui Beat 71 G2hd &

A)HBTHR B)Wd
C)uda D)#gTedd
Answer Key : D Your Response : D (Correct)

Question No. 41

How many squares are there in the given figure?

21 18

0 D)

& T gy 3 freat 79 #2

A) B)
21 18
C) D)
37 32
Answer Key : A Your Response : A (Correct)

Top



Question No. 42

become the first police force in the country to digitise all malkhanas, rooms for keeping seized

arms and ammunition.
A)Delhi Police
C)Chennai Police

@1 U5l gfe s s
A) el gferd
C)dets qgferd

Answer Key : A

India's first self-made fighter jet is-
A)LCA Tejas
C)Dassault Rafale

B)Bengaluru Police
D)Mumbai Police

, Jed BRARY SR Ma-areg W@ & Y gged it A, Fet $ ffSedeRu R are o

B)ETE Yferd
DA g

Your Response : Not Answered

Question No. 43

B)MiG-21
D)Dassault Mirage 2000

YR &1 Uga T9-FAfAT S a9® fTAE S 9 7

A)LCA doig
C)3diec Thol

Answer Key : A

Bronze is an alloy of-
A)Zinc and iron

C)Tin and zinc

Answer Key : B

What is reduced by a lubricant?
A)The smoothness of the surfaces
C)The shiny nature of the surfaces

TI8P NI #91 HH AT Sl &7
A)Tder Fr Reege
C)ddgl &I THFER T

Answer Key : D

B)MiG-21
D)sdlee fARTST 2000
Your Response : D (Wrong)

Question No. 44

B)Copper and tin
D)lron and mercury

B)drer 3iiX fear
D) SR SR 7 &
Your Response : A (Wrong)

Question No. 45

B)The bright colours of the surfaces
D)The interlocking of the irregularities of the surfaces

B)ddgl & THbIer T
D)gdgl fr dfAafAganit fr gexaifeT

Your Response : D (Correct)

Question No. 46

What is the valley (lowest portion) of a sound wave called?

A)Lowest
C)Highest

B)Crest
D)Trough

Top
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A) feestas B)#9T(Crest)
C)3=aaH D)3Tci(Trough)
Answer Key : D Your Response : D (Correct)
Question No. 47
Which of the following does NOT increase while moving down the group of the periodic table?
A)Metallic character B)Atomic radius

C)Number of shells in an element D)Valency

3Mad IRl & Rl T @ Y 9 W AFAfifed & ¥ oF 91 T8 dedl o

A) rrfeaen 701 B)URATYL,
C)fFdY dca & =it &1 dwar D) HaTSThdT
Answer Key : D Your Response : C (Wrong)

Question No. 48

What is the unit of measurement of very long distances between celestial bodies?
A)Metres B)Miles
C)Kilometres D)Light years

3y g & ot P sgd <ell gRAT P AIG F PE FT

A)HIER B)Hid
C)fepreli#ex D)9ehTer a&
Answer Key : D Your Response : D (Correct)

Question No. 49
Why does dispersion occur when white light which is a mixture of seven colours passes through a glass
prism?
A)7 colours of white light travels at different speedsB)7 colours are refracted at same speed.
through a glass prism
C)7 colours are reflected by prism D)The white light scatters the 7 colours throughout the

prism

VS 93d TP, S WA T B FAT 5, Pig > BeH ¥ [ [oRdl ¢ df D GRG0 It FhT 8
A)ad YT F 7 T HT & Oed & e@-3109T ITaIB)7 T[T FA drel F 39dfdd & &l

REISEGE
C)7 &1 UsH garr wrafdd gid &1 D)2ad Ferer, 7 @I & W BeH 7 ghifola & gl
Answer Key : A Your Response : D (Wrong)

Question No. 50
In this question, a statement is given followed by two conclusions. Choose the conclusion(s) which best fit(s)
logically.

Statement:
Money plays a vital role in our lives.

Conclusions:

I. The poor can never become rich.

1. All the rich men take part in politics. Top
A)Only conclusion Il follows B)Only conclusion | follows



C)Neither conclusion | nor Il follows D)Either conclusion | or |l follows

3 W H, TP BT & dg 3§ sy Ry MY §1 S@ Frvdy @ (7 Fsawdt @) g oS difee ®7 9 I9d
ST g

HY:
Y7 AR Sffad # Heeaqul YfH® FHIaT B

sy

. 9 @ft R & &7 I

1. oft opfR & IoHifa o feewr d &)

A)dad fASHY || areded FHar gl B)ahadl fsy | areled ar 2l
C)a sy | 3R 7 & Il IreleT T gl D)ar ar fasey | ar |l greiT R gl
Answer Key : C Your Response : Not Answered

Question No. 51

Which of these is NOT a blood group?

A)O B)A

C)AB D)C

T T P T TF W GE T8 @

A)O B)A

C)AB D)C

Answer Key : D Your Response : D (Correct)

Question No. 52

If A. B and C are three points on a circle, where BC is the diameter and

AC=AB= 5.2 cm. Find the radius of the circle.

A) B)
6cm 5cm
C) D)
5}
E cm 4cm

afe A, B3R Ct& g7 W foug &= g &, ster BC=w § 3l
AC=AB=5/2 @ g1 39 # f=ar a9 Hifaw)

Top



6 BHY 5 AT
Q) D)
5
N papsig A 9HT
Answer Key : B Your Response : Not Answered

Question No. 53
What is the difference between Compound Interest and Simple Interest on Rs.1000 at 10% after 4 years?
A)Rs.74 B)Rs.64.10
C)Rs.16.40 D)Rs.52

%1000 P IR W 10% A X F 4 9§ § gied Iy <A1 3R AYRY T 1 3R AT PIICI

A)%.74 B)%.64.10
C)%.16.40 D)%.52
Answer Key : B Your Response : Not Answered

Question No. 54
Which of the following laws states that electric current 'l' flowing through a metallic wire is directly proportional
to the potential difference V', across its ends provided its temperature remains constant?
A)Gauss' Law B)Ohm's Law
C)Newton's Law D)Pascal's Law

fEfafed ¥ @ S 9 FaY 98 o=fdl § % R a0 R ol u1g & dR @ 989 areh faegd uRT 1 Sud
RRE & ¥ AR v & SFFAE Sl &

A)ITE &1 e B)3f# &1 e
C)eged &1 AaH D)UrEehel &l I
Answer Key : B Your Response : B (Correct)

Question No. 55
P is facing Q. Q is to the north of P. R is placed on right side of Q. What is the direction of R with respect to
P?
A)North west B)South west
C)North east D)South east

P, Q @ 3R g PO GU BI Q, P ¥ IR & 3R BI R, Q & A 3R B1 P & Wrday R P = 777 @7

A)3cR aftas B)cf&ror gfead
C)3ceR qd D)afaror qd
Answer Key : A Your Response : C (Wrong)

Question No. 56
Find the ODD one out from the given options.
A)House : Room B)Tree : Branch

C)Car : Engine D)Table : Chair Top



fqu 7T faweut ¥ A SR B A

AT HHA B)US : &l
QPR : 3o D)V : % _Hf
Answer Key : D Your Response : A (Wrong)

Question No. 57

- 3 1
If x+1 =2, then find the value of x”+—.
X X

) D)

A) B)
1 -2
C) D)
0 2
Answer Key : D Your Response : D (Correct)

Question No. 58
Which of these is a trace element?
A)Potassium B)Manganese
C)Sodium D)Magnesium

Y ¥ P9 U (P GHATS qcd o7

A) TR B)HTHIS
C)afsaa D&z
Answer Key : B Your Response : Not Answered

Question No. 59
Which harmone is produced by Islets of langerhans to control diabetes mellitus?
A)Ptyalin B)HCI

Top



C)Rennin D)Insulin

SANAS AT B AR A & I Msdey Siie FRET <arT fFy g & JUeA T AT &

A)errfore B)HCI
C)fareT D)3 foret
Answer Key : D Your Response : D (Correct)

Question No. 60

Which is the oldest hockey tournament in India?
A)Beighton Cup B)Nehru Cup
C)Ramaswamy Cup D)Durand Cup

HRA T qo8 RMET G TIRIE DA A &7

A)dlecT HY B)ag® &9
C)TATETAT &Y D)SRS BY
Answer Key : A Your Response : Not Answered

Question No. 61
Simplify: 0.8 + 0.08 + 0.008 + 8

A)880.8 B)8.888
C)8.808 D)8.088

WA T : 0.8 + 0.08 + 0.008 + 8

A)880.8 B)8.888
€)8.808 D)8.088
Answer Key : B Your Response : B (Correct)

Question No. 62
Which element is the first element in the periodic table?
A)Helium B)Oxygen
C)Hydrogen D)Neon

g GRU ¥ g ded B AT 87

Adfoaa B) 3iTereiTstet
C)gTssroiet D)3t
Answer Key : C Your Response : C (Correct)

Question No. 63

Which of these plants has multi coloured leaves?

A)Jasmine B)Hibiscus

C)Tulsi D)Croton

T @ e O g ot A @

AT B)grsfeTha

Oy et D)wice

Answer Key : D Your Response : D (Correct)

Question No. 64 Top



There are six members in a family. This year the father died and he has a son Ramesh, and a son is born to
Ramesh. The average age of the family is the same now as it was 10 years back. At what age has the father
of Ramesh died?

A)60 years B)50 years

C)64 years D)72 years

U URAR ¥ B¢ Feed §1 39 a§ fudl @ #eg & TS SR IR T 91 WAV §, 3R W B TH §er Yay gan
31 IR @ i oM 3@ T@ B, S 10 A Ued offl W F R B Gy fBY oy 6 T

A)60 a¥ B)50 a¥
C)64 a§ D)72 a§
Answer Key : A Your Response : Not Answered

Question No. 65

In the second quadrant, cos 6 varies from:

A)1/2 to -1 B)O to 1/2

C)0 to -1 D)-1 to 1

AU, cos OBMAT ______ & o9 T B

A)1/28-1 B)OH 1/2

Q0d-1 D)-19 1

Answer Key : C Your Response : Not Answered

Question No. 66

What is the concept of spherical mirrors?

A)Reflection of light B)Radiation of light
C)Scattering of light D)Refraction of light

e S401 S SAYROT 4T &7

A)TTA T RTdcTeT B)uahrer &1 faferor

C)UahIer &7 ehroTet D)YehTel &I 3TTaciel

Answer Key : A Your Response : D (Wrong)

Question No. 67
Who was the first Indian male athlete to reach the final of an Olympic athletic event?
A)Michael Kindo B)Milkha Singh
C)Surijit Singh D)Ajit Pal Singh

3iciftes Tudifed gdc & WiRTA # UgeE dral Ugal HRAIG GEY QYA DI T

A)ATSHe Tl B)fAcar &g
OuTha g D)3t arer fig
Answer Key : B Your Response : B (Correct)

Question No. 68

Simplify: 1.2-0.12

Top



)

11/90

T ey 1.2-0.12

)

11/90

Answer Key : D

Complete the series.

CX, WP, UJ, SF, (...)
A)QD
C)RE

AUt Bl gl |

CX, WP, UJ, SF, (.)
A)QD

ORE

Answer Key : A

A)Madhya Pradesh
C)Maharashtra

9/1

D)

0

11/10

9/1

D)

0

11/10

Your Response : Not Answered

Question No. 69

B)YT
D)OP

B)YT
D)OP

Your Response : Not Answered

Question No. 70
Which of these states was NOT divided in the year 20007?
B)Uttar Pradesh

D)Bih

a8 2000 W T § B A1 AT AU TE gar um

ar



A)TET TeeT B)3caR Jeer

C)FeRTE D)far

Answer Key : C Your Response : Not Answered
Question No. 71

Find the value of 6 + 2 x (1 + 2).

A)3 B)1

C)6 D)9

6 +2 % (1 +2) & A AT HoQ|

A)3 B)1
Q)6 D)9
Answer Key : D Your Response : D (Correct)

Question No. 72
IfA+B=C,D-C=AandE -B =C, then what does D + F stand for?
A)C B)J
c)Q D)E

YREA+B=C,D-C=ASRE-B=C@g dD+F & AU T

A)C B)J
QQ D)E
Answer Key : B Your Response : Not Answered

Question No. 73
If 'PALE' is coded as 2134, 'EARTH' is coded as 41590, how is 'PEARL' coded?
A)25430 B)25413
C)24153 D)29530

TfE 'PALE' I 2134 TGT WAl §, 'EARTH' &l 41590 @l Sl €, ol 'PEARL' &l & @l SR

A)25430 B)25413
(C)24153 D)29530
Answer Key : C Your Response : C (Correct)

Question No. 74
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Read the following information carefully and answer the question given below.

Eight friends—P, Q, R, S, T, U, V and W are sitting around a circular table facing the centre. Each one of them
likes different brands of watch—Sonata, Titan, Fastrack, Swiss, Casio, Timex, Rolex and Fossil, but not
necessarily in the same order.

P sits third to the right of the person who likes Fossil. P does not like Fastrack. T is not an immediate
neighbour of W. R sits on the immediate right of the person who likes Fastrack. Neither P nor W likes Casio or
a Titan. The person who likes Casio is not an immediate neighbour of the person who likes Fossil. The person
who likes Sonata sits second to the left of T. The person who likes Sonata is an immediate neighbour of the
both persons who like Timex and Rolex. Person who likes Rolex sits third to the right of Q. Q does not like
Casio. U is not an immediate neighbour of P. V is not an immediate neighbour of the person who likes Sonata.
Only two people sit between the person who likes Rolex and W. The persons who like Casio and the Titan are
immediate neighbours of each other.

Who among the following likes Titan?
A)S B)R
C)Vv D)Q

fAFAfaRead TS @ €OF ¥ g 3R 1 fSU 1T wed &1 R &

36 13- P, Q, R, S, T, U, V 3R W T& JAGR AW & dIRF SR FIRE gax 96 & I8 4 | P 99
& fafe sid P THE IRAT 5, OG- FHE, TISe, BREE®, a4, HRd], cgdey, J0ed iR Wi, AfeT
wEY TE 5 W F9 #

P 39 MR & I1f 3R iR ®F W 31 ¢ PR BT s T8e g1 P B Blece® oS T8 T8 ¢l T, W &
THeH FAd 4 A VTR R ST AT S AP TS IR T N Bt F e T 81 T A P AR T & p
PR a1 Tz §iS B WHe IR ¢l o9 cufad @ FRE) §is Wig 8, 98 99 cafad & & Sd o A& S8
% R vt sic Toq 31 98 <afya R 99T sis TE T 98 T & o1% ol g T W 38T 31 ot =g
YT 5iS & ¥ IRl 3, 98 97 ot AfFdar & P &d ¥ 37 § o <RAsy ok A §is B Wi
A & A%FY 7S THe PR 17 AfFd Q b IE 3R TR UM R 93T g1 Q, S 51 Bl T T& =l
B U P FOSTTA N T 901 &l V S TfFd &SP Sd T TE ST § Sl TR §iS B uE w3
AT 5fs Wig T I Afad IR W & §9 haa & A 9 &1 o afagat & IR &R eged w1
S & 3 THhQR & &% oIa § 9

fAefREd ¥ ¥ I TRed 318 B WNg IRdl &7

A)S B)R
Qv D)Q
Answer Key : D Your Response : Not Answered

Question No. 75
The negatively charged ion is known as-
A)Anode B)Cathode
C)Anion D)Cation

BUTHS AR G- D FGT FIdT 87
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Q)F UM (Anion) D)Y-Td-(Cation)
Answer Key : C Your Response : D (Wrong)

Question No. 76
In this question, two statements are given followed by two conclusions. Choose the conclusion(s) which best
fit(s) logically.

Statements:
1) All fruits are baskets.

2) Some baskets are jars.

Conclusions:
I. Some jars are baskets.
Il. No basket is fruit.

A)Both conclusions | and Il follow B)Only conclusion | follows

C)Only conclusion Il follows D)Neither conclusion | nor Il follows

39 wed ¥, 4 Bt & 9IG 9 Fsdy AU 7T §1 SW FsHy (3 P I Sl dIfhp §U I TS IUYE

HYH:

1) Tt wa, P ¥l

2) 98 <Y, §R ¥

IGATE

. P SR ABY I

Il. $T DY Bl &

A)err fases | 3R 11 3ugeEd § B)&ad fosehy | 3ugerd gl
C)Fael fswy Il 3ugerd &l D)aT ar fasehy | &7 & 1l 39ged gl
Answer Key : B Your Response : B (Correct)

Question No. 77

Top



Evaluate: {‘B-HT +{ ¥3-1 T
J3-1 V3 +1

A) B)

C) D)

N3-1 3 +1
A) B)
12 16
C) D)
14 24
Answer Key : C Your Response : Not Answered

Question No. 78
Which of the following fuels is NOT used in thermal power plants?
A)Fuel ol B)Natural gas
C)Uranium D)Coal

fFfifed ¥ @ 59 $u9 o ST 1 gy wast @ T8 fHa e 3

A)SEST el B)wrehfare e
o7 I D)bIgel
Answer Key : C Your Response : B (Wrong)

Question No. 79
While executing a job, what 20 women can do in 16 days will be done by 16 men in 15 days. Find the ratio of
capacity of a man to that of a woman.
A)4:3 B)5:6
C)3:4 D)6:7

TP o, R 20 ARQG 16 frtt R Wbl € S 16 ook @R 15 A A O RpaT ST §1 TH oW g,
T AfEe P 77T Bl UM AT P



A)4:3 B)5:6
03:4 D)6:7

Answer Key : A Your Response : Not Answered

Question No. 80
P, Q and R work together to finish a work. P and Q finish 70% of the work while Q and R finish 50% of the
work. Who will finish first, if they work alone?
A)Cannot be determined B)P
c)Q D)R

P, Q 3R R TGN T & & U axd §1 P 3R Q, 70% T WH IRd § W&l Q 3R R, 50% D
GcH Ra ¢ afE 3 3ad-oihd P Ixd & A IOY Usd D B B G SN

AfRuiRa g7 fFar ST gehar B)P
QQ D)R
Answer Key : B Your Response : Not Answered

Question No. 81
Which of the following is a reproductive cell?
A)Lymphocytes B)Gamete
C)RBC D)WBC

fAffad & ¥ o9 W@ Te gobT DR o7

A)faFprarse B)Y7H®
C)RBC D)WBC
Answer Key : B Your Response : B (Correct)

Question No. 82
Two numbers differ by 1365. On dividing the larger number by the smaller, the quotient and remainder got are
6 and 15 respectively. Find the larger number.
A)270 B)1095
C)1784 D)1635

A Y& 1365 ¥ - Bt ¥ 98 I B B T UG R W, HITHA 3R 96 FAE 6 3R 15
gied BiaT 31 99 JedT Ad Pl

A)270 B) 1095
01784 D)1635
Answer Key : D Your Response : Not Answered

Question No. 83
A cone is 32 cm high and the radius of its base is 8 cm. It is melted and recast into a sphere. Find the radius
of the sphere.
A)2.5cm B)4 cm
C)6.5 cm D)8 cm

& UG P AR 32 S SR TS MR & Bsa1 8 T §1 T FgdeR @ M & sl S ol 99 T
& A=l Ad Al

A)2.5 9 “E#eT B)4 ¥ &#ex

0)6.5 9 A D)8 T e Top



Answer Key : D Your Response : Not Answered

Question No. 84
Which of the following cities became the first to launch a 24x7 Ultra Low Emission Zone (ULEZ), inside which
vehicles will have to meet emission standards or face a charge?
A)Sydney B)Chennai
C)London D)Washington

fAFfafad 7 P T TR 24 x 7 3fegl @ UHRH W (ULEZ) Wd R4 91aT Ugdl e &9 7141, S9d
3ieR aTgAT Pl IS AP Bl T HRAT BT T AR T 7T Yoo Bl dfied HAT G2

A) s B)JeeTs
C)de D)arfRiTe
Answer Key : C Your Response : Not Answered

Question No. 85
A son's present age is two-fifths of his mother's age. After 8 years, he will be one half his mother's age. What
is his mother's age now?
A)40 B)50
C)42 D)36

T$ 3¢ & qOAM 3, IFH A B I T 2/5 T 8 q§ SIG, B I, IgB Al I IR B mA gl
B [T B I I A B

A)40 B)50
Q42 D)36
Answer Key : A Your Response : Not Answered

Question No. 86

Which of these fractions cannot be reduced further?

14/21, 33/43, 18/24, 92/24, 41/82
A)33/43 B)41/82
C)92/24 D)18/24

A # D Y M B SR RS WA T8 f6T & Iobdl &7

14/21, 33/43, 18/24, 92/24, 41/32

A)33/43 B)41/82
0)92/24 D)18/24
Answer Key : A Your Response : B (Wrong)

Question No. 87

Acidic solutions in water conduct electricity because they produce-
A)Sulphide ions B)Chloride ions
C)Hydrogen ions D)Hydroxide ions

ot § AT ey faea @ fega waifed gt § wiifF R
A)HeWHISS T B)FeR188 3T Top



C)ersgist 3t D)ETS3IHaTSS 3HTIet

Answer Key : C Your Response : D (Wrong)
Question No. 88

Find the ODD one out from the given options.

A)40 B)80

C)79 D)20

fau U facpedt # ¥ STd @ T

A)40 B)80
Q79 D)20
Answer Key : C Your Response : C (Correct)

Question No. 89

Two numbers have their LCM and HCF to be 693 and 11 respectively. If one number is 99, find the other

number.
A)79 B)12
C)34 D)77

& deaesi & A ULCM) IR HAYHCF) HARE 693 SR 11 ¥l IfE T dwar 99 g @ gy I=al @
S

A)79 B)12
Q34 D)77
Answer Key : D Your Response : D (Correct)

Question No. 90
If in a certain code '"YELLOW!' is written as 'XFKMNX', how is 'BORDER' coded?
A)AQPESD B)APSEFS
C)ANSCFQ D)APQEDS

afy TP fRTd TS # 'YELLOW' &I 'XFKMNX' fIr@l ST &, SEt et & 'BORDER' &I &4 foral
ST

A)AQPESD B) APSEFS
C)ANSCFQ D)APQEDS
Answer Key : D Your Response : D (Correct)

Question No. 91

Bohr's orbits are called stationary, because-

A)Protons remain in the nuclei and are stationary B)Electrons in them are stationary

C)Their orbits have fixed radii D)Electrons in them have fixed energy

dieR B Ferrelt B Rt o A @

A)WieleT =1 & Bd ¥ 3R R e ¥ B)#rifeh 3eei HIG & goierelal 2R 81 &
C)3oTer FeT3it &1 s AfRad B & D)3TH U & golarele & ARad Foir gl &
Answer Key : D Your Response : A (Wrong)

Question No. 92
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Which number will best complete the relationship given below?

7:64::8:7?
A)81 B)80
C)79 D)82

P @ dear Y fau T ey B 9 a9F € quf S

7 :64:8:7

A)81 B)80

Q79 D)82

Answer Key : A Your Response : C (Wrong)

Question No. 93
Which of these is used to break the circuit or to close the electric circuit?
A)Bulb B)Cell
C)Switch D)Wire

T ¥ frud SRR IRUY F faesfed a1 faega, uRuy @ 9 IR & faU fHar ST &

A)Ted B)&edr
C)Rag D)dR
Answer Key : C Your Response : C (Correct)

Question No. 94
If (1 +tan A) (1 + tan B) = 2, then find A + B.
A)180° B)90°
C)o° D)45°

T (1 +tan A) (1 +tan B) =2 @ dl A + B & AF A ARG

A)180° B)90°
Qo° D)45°
Answer Key : D Your Response : D (Correct)

Question No. 95
If north east becomes west and south east becomes south and so on, what will be the west?
A)South east B)North east
C)North west D)South west

gfg SR U4, URad g a1 § 3R IR0 G, IR0 9 §IaT g, ) uieaw 1 g

A)fEroT qd B)3ceR &
C)3cR ufdas D)ef&oT gfeasr
Answer Key : B Your Response : B (Correct)

Question No. 96 TOp



At what rate per cent will a sum of money double itselfin 30 years?

A) B)
3% 31y
4
C) D)
33% 31%
3 2

frae wferera sarer & &x X ®15 Tf¥r 30 a6t & T Fr QT Er

STTET?
A) B)
3% 3 l %
4
0) D)
3=% 31%
3 =
Answer Key : C Your Response : C (Correct)

Question No. 97

Read the following information carefully and answer the question given below.

Eight friends—P, Q, R, S, T, U, V and W are sitting around a circular table for a meeting facing center. P is
second to the right of V who is third to the right of Q. S is second to the left of U who sits between V and P. R
is not a neighbour of Q or T.

Who is third to the right of V?

A)Q B)R
C)W D)T
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fFfaRad SR B eOF ¥ g 3R 7 fST 7T weT &1 R &I

3G Qed- P, Q, R, S, T, U, V IR W T& HifT & R T& qa@R 99 & IRt R FfHE gax §96 &
P,VH TR AN IR TIM WIS § & Q & T% AR & IR T WS g1 S, U & a1 3R & N
WH RIS AV ARP F T IS 51 R, Q AT T & T # 8 a1 B

V & TR 3R ¥ TR TH W BH doT &

A)Q B)R
Qw D)T
Answer Key : B Your Response : Not Answered

Question No. 98

Which acid is present in sour milk?

A)Citric Acid B)Acetic Acid

C)Glycolic Acid D)Lactic Acid

T qY W PH 1 3 Hiog BT &

Afafes s B)uRafes 3mer

C)Icsahifoieh 31F el D)olfdeer 31Far

Answer Key : D Your Response : D (Correct)

Question No. 99

Find the missing group of alphabets in the following series.

WO, CJ, HF, (...), RA
A)PD B)MC
C)AR D)FC

fAFfifEd it 9 eeR & SF{URyd IHg B AT BN

WO, CJ, HF, (.), RA

A)PD B)MC
OAR D)FC
Answer Key : B Your Response : Not Answered

Question No. 100
P invests Rs.3500 in a business. After 5 months, Q joins him with some investment. If the profit that Q gets is
50% more than that of P, then find the investment of Q.
A)Rs.9000 B)Rs.5000
C)Rs.7000 D)Rs.6500

Top



P T <OaU” H ¥3500 I FIAY Rl gl 5 AYA & d1¢, Q P& AV & I b Y T gl AT Q &

e aT M P & A T 50% 3@ Q) a9 Q P A A Hfe|

A)%.9000 B)%.5000
C)%.7000 D)%.6500
Answer Key : A Your Response : Not Answered
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